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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 Here is a right-angled triangle.

8.5cm
4cm

xXcm

Work out the value of x.

2 2 2
x -+ ¢ = €.5

2 2 z

x’ fpend 8-5 - L,'
2

z = §¢. 25

x = \lsc.zs

X = 7.5

||

= 2.5

(Total for Question 1 is 2 marks)
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2 T=4m*-11

(a) Work out the value of 7when m =—3

T = 9(‘3)2 -1

T = 25

| DONOTWRITEINTHISAREA

(b) Make p the subject of the formula d=3p + 4

o -4 = 3p
o -«

= P
3 _ L -4

(Total for Question 2 is 4 marks)
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3 Rick, Selma and Tony are playing a game with counters.

Rick has some counters. R
Selma has twice as many counters as Rick. 2.8&_
Tony has 6 counters less than Selma. 28 —¢

In total they have 54 counters.
the number of counters Rick has : the number of counters Tony has =1 : p

Work out the value of p.

R + 2R + 2R — &6 = S 4y
5R. — & = 5S4
R = ¢ o
R = J2
Rick - 12

Se,/MA N lax2 = 24
— ¢ = 19

2
_’:Aj . ?J—f

r T

12 1%

<2 =12
[ /].5
f:IS

D=l ST A

(Total for Question 3 is 5 marks)

P 6 6 3 8 1 A 0 4 2 4

VISV SIHENEILIIM TONOC Va4V SIHLNE LM LONOG

V3IHY SIHLNEILIHM ION Od



DONOTWRITE IN THIS AREA

DO'NOTWRITE INTHISAREA

DO NOTWRITEIN THIS AREA

4 Jo is going to buy 15 rolls of wallpaper.

Here is some information about the cost of rolls of wallpaper from each of two shops.

Chic Decor

3 rolls for £36

Style Papers

Pack of 5 rolls
normal price £70

12% off the normal price

Jo wants to buy the 15 rolls of wallpaper as cheaply as possible.

Should Jo buy the wallpaper from Chic Decor or from Style Papers?

You must show how you get your answer.

chic pDecer

3 rolls -far— £36
x5 x5

1§ rolls For f )go0

Okl.d

Style FPopers

5 rolls 'Fbr E70
x3 x 3

]j_ rolls 7&:( iﬂ_}O
|27 Ais count

2/0%x 0.8¢C = 2184 .¢%0

Pecor

P 6 6 3 8 1 A 0 5 2 4

(Total for Question 4 is 4 marks)
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5 The table gives information about the lengths, in cm, of some pieces of string.

Length (¢ cm) Frequency
0<tr< 10 15

10 <1< 20 20

20 <+ <30 50

30 <t <40 25

40 <t <50 5

Amos draws a frequency polygon for the information in the table.

Lengths of pieces of string

A
60
. 50
s+ /N\
o) — \
30 \
Frequency
20 \\
10 N\
,\
0 >
0 10 20 30 40 50
Length (cm)

Write down two mistakes that Amos has made.

(Total for Question 5 is 2 marks)
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6 Jessica runs for 15 minutes at an average speed of 6 miles per hour.

She then runs for 40 minutes at an average speed of 9 miles per hour.
It takes Amy 45 minutes to run the same total distance that Jessica runs.

Work out Amy’s average speed.
Give your answer in miles per hour.

. /5
First 1S mins oA = 6x =
= /,5‘ s L2 s
e - 9
Next 4o minst A = Tx =

- é W;L-CS

Total distence = (1.5 + 6

= 7.5 nmiles
Ay -
/ §p-¢eﬂt = 7 S - ‘20
= /0 M/k
[ S—

L
t

miles per hour

(Total for Question 6 is 4 marks)
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7 The diagram shows rectangle STUV.
TQU and SRV are straight lines.
All measurements are in cm.

A

v

W —P>E— X —€
T

N
v

i

S

|t
\

< 3x

The area of trapezium QUVR is Acm?

Show that 4 = 2x*+ 20x

L

A = ;’x*‘r:r_ + 5(4 )

A=

22,2- —+ 2—0:[,

(Total for Question 7 is 3 marks)
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8 An electricity company charges the same fixed amount for each unit of electricity used.
David uses this graph to work out the total cost of the electricity he has used.

A

20

16

12

Cost (£)

0

>
T T T T T T T T T T T T T T
0 10 20 30 40 50 60 70 8 90 100 110 120 130 140

Number of units used

(a) Work out the gradient of the straight line.

.00 (oo, 14)

M = change iin Yy
oh“"-jf- i X

- =0 0.1t

100 —

(b) What does the gradient of this line represent?

(Total for Question 8 is 3 marks)
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9 (a) Express 10 < 10

as a power of 10

/O?Go

Jo*®

)

(o

/ 0 éo
AAAAAAAAAAAAAAAAAAAAAAAAAAA (3)
Liam was asked to express (12°°)* as a power of 12
Liam wrote (1250)2 = 1250 = 22500
Liam’s method is wrong.
(b) Explain why.
)25% % 12%5° = 12'°°
,,,,,,,,,,,,,,,,,, )t shewtd te Sox2 nek s0°
________________________________________________________________________________________________________________________________________________________________________________________________________________________ (1)

(Total for Question 9 is 4 marks)
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10 Jane bought a new car three years ago.

oo —l2-5
At the end of the first year the value of the car had decreased by 12.5% / - 7.5

The value of the car then decreased by 10% each year for the next two years.
/00 -10 = 72
At the end of the three years, the value of the car was £17010

Work out the value of the car when Jane bought it three years ago.

2
2 * 0.875 x 0.9 = |7010

)70/ O

x = 2
o875 «x 0.9

24 000

£.24000. . .

(Total for Question 10 is 3 marks)
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11 Rayheem has
16 shirts
5 pairs of jeans
3 jackets

Rayheem chooses an outfit to wear.
An outfit is 1 shirt, 1 pair of jeans and 1 jacket.

Work out how many different outfits Rayheem can choose.

i\

)6 X &5 x 3 240

(Total for Question 11 is 2 marks)
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12 ABC and ACD are right-angled triangles.

-
Ll

e

<

v

T

=

=

i

E

o

=

5 DC=8cm

g Angle ADC = 45°
0 Angle ABC = 20°

Work out the length of 4B.
Give your answer correct to 3 significant figures.

. 6 o
sin 6 = —
! H

4
Sin (20) = —
x s/n(20) = 8
A
L —3
Sl'n_[ :—D)
- 234

35
RS
1005~ 0%
<
0
T
s
s
TS
B
=
O
SO
e

(Total for Question 12 is 3 marks)

VD V0V RO .
Turn over »
P 6 6 3 81 A 0 1 3 2 4 urnove




13 a and b are vectors such that

Find b as a column vector.

3a = (—éq)

I
[\
S

L

(Total for Question 13 is 3 marks)
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14 (a) Factorise fully 4p* — 36
$(p*-1)
t (p+3)(r-3)

(b) Show that (m + 4)(2m — 5)(3m + 1) can be written in the form am® + bm* + cm + d
where a, b, ¢ and d are integers.

(,‘ZMz—g,q + 8m —20)(?»4 *l)
(2042 + 3m —20) (3m +1)

(d’ + 205 + 9™+ B — bOM — 20

—_—_————,,,,,—— e, T —,. -

Ermd 1m" — §7m —20

(Total for Question 14 is 5 marks)
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15 P, O, R and S are four points on a circle.

P
C Q
R
S
PXR and SXQ are straight lines.
Prove that triangle POX and triangle SRX are similar.
f,\(a = Sxp /ap/aasitc, omg’e.f are eit/'-ﬁ-t)

pPas = PRS (a-rtglu ‘A The [omé& j‘ejMéﬂf—
art 'C.?M-L)

rsa = ~PQ (a-rLg/e.f in Fthe Sawme Sz‘chnl—

~re e_q,u_al )

H’/‘}A— Similar tr.'omj/u

(Total for Question 15 is 3 marks)
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16=\E
PNy

e = 6.8 correct to 1 decimal place. e

f=10.05 correct to 1 significant figure.

Work out the upper bound for the value of p.
Give your answer correct to 3 significant figures.
You must show all your working.

s = / 2(6.8¢)

o.04 5

= 17.44&. .

17. 4

—
e

6-7 6.9 .9
: 73 : f)\ :
6.75 £-3S

Dlo'-iL a_ols olos
|

(Total for Question 16 is 3 marks)
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17 The table gives information about the distances, in miles, that some Year 10 students F.d= f’ ¢L
live from school. widfs
K
. . Ca
Distance (d miles) y»* Frequency F- ol
0<d<10 | 90 70
10<d<150-5 48 7¢
15<d<20 0-S 2 @4
20<d<30 / 8 g
30<d<50 2 12 6
(a) On the grid, draw a histogram for this information.
A
100
g0
Freqyency ¢ol :: E
density B
LR
55
prososeseses
%o 2
s
SR
s
o
2o o
5
>
0 1 2 3 4 5
Distance (d miles)
3)

18
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The histogram below shows information about the distances, in miles, that some Year 11
students live from school.

A
Frequency
density
7
7]
i
2
s
0 1 2 3 4 5

Distance (d miles)

The number of Year 11 students who live between 1 and 2 miles from school is 7.

(b) Find an expression, in terms of », for the number of Year 11 students who live
between 3 and 5 miles from school.

(Total for Question 17 is 5 marks)
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18 Here is a prism ABCDSPQR.

0 12cm

)
D
,///\ = ():; ] "" - dé
n - T
,,// / &,# - 8
' 7
gl ]
A l4cm B

The base ABCD of the prism is a square of side 14cm
T is the point on BC such that BT : TC = 4:3

The cross section of the prism is in the shape of a trapezium of area 147 cm?
CR=12cm

Find the size of the angle between the line ST and the base ABCD.
Give your answer correct to 1 decimal place.

[
r ’E’_(-x —r,Z_)X’Lf':/Lf7
)2 x> + 12 = 2)
/14 £ = =1
2 R
D i 4 c 14}'1 + & = Y
é 232 = y©
y J
> 7
-éa-n 2 =
7 15. 2
- 9
2 2= tan (1)
D ’CZ‘ 7T T 30 ...... é .............
= 30.6

(Total for Question 18 is 5 marks)
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3x 2x +1 . . ax+b
- —1 can be written in the form
x+2 x-2 x> -4

where a and b are integers.

19 Show that

3x(=x ":—) _ (2= -H)(x-;-z') _ [I-PZ—)L:_—L}
(2+2)(x -2) (= +2)(= -2) (x+2)(z-2)
T - 6 . z,c_z—f-q.-.u_q-:[__;.?_ . _~ -2x +2x - 9
(z+2)(x - 2) (x +2)(= -2) (x+2)(z-2)
Sx? - 6= i (Za:.z+§'=h-+1-) _ (Iz - Y \
(z+2)(2 —2) (= +2)(= -2) (x+2)(z-2)

311_61 —ZZZ—TL—Z— 21 -+ Y

=" -y

(Total for Question 19 is 4 marks)

21
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20 The profit made by a shop increases each year.
The profit made by the shop in year n is £P

Given that the profit made by the shop in the next year is £P | then
P . =aP + 800 where a is a constant.

The table shows the profit made by the shop in 2018 and in 2019

Year 2018 2019
Profit £24000 £29600

Work out the profit predicted to be made by the shop in 2021

,;_019 = uf?-ou’ + oo
29600 = 0_(7—4'000) + 800
28800 = 24000 A

_ —6— = /.2
@ T 7

/.2 (29600) + 800

FZDZO

= 3¢ 320

FPava, = 12 ( 36320) + ¥0°

= 44384

—

£ G432

(Total for Question 20 is 4 marks)

22

P 6 6 3 8 1 A 0 2 2 2 4

V34 SIHLNI ILTIM LONOd

YIIY:SIHLNEILIIM TON-Od

VISV SIHLNEILI-IM ION O



DO NOTWRITE IN THISAREA DO:NOTWRITE IN.-THIS AREA

DO NOTWRITE INTHIS AREA

21 Ray has nine cards numbered 1 to 9

1 2

3 4 S 6 7

Ray takes at random three of these cards.

He works out the sum of the numbers on the three cards and records the result.

Work out the probability that the result is an even number.

gdd + o0dd + even f x ._L%— X
5 4
pdd +even + odd 7—*_—‘-—-&
p,Ve/L-roddl 'f'D/d M < 52 x
9 2
oven + even 4+ eyen 1"*_ x %x
2/ 1° 4 1 = /’_{_
63 2| 21

(Total for Question 21 is 4 marks)
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22 L is the straight line with equation y=2x —5
C is a graph with equation y*= 6x?—25x — 8
Using algebra, find the coordinates of the points of intersection of L. and C.

You must show all your working. S i P tions
Mu/T-aneoih e_i uwx

(ZZ.—S')L = (761—251'_2

(22 -5)(22-5)= 6x* —25x —3

2
412—/01—/014- 25 = 62 - 285 = g

= éx_z— 25 > -~ ¥

Ggxt - 20x + 25 2432 =66
2 _ / €¢
s 22
0 = (Zz.-—)l)(x-f3) ¢
x = x ==23
2
‘(j = 2 - -y “"j__'_ 2 — S
_ _ Yy =2 —'3)—5
1= 2(4) s ‘
= =1
= 6
<// =3 - ')
//é)
A p———
(. }/;_' ............... 6 .
(.= 3 .. =1l

(Total for Question 22 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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